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Ideals for irreducible component#ﬂ)f Xpar

I = (W —u® 4.+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 27 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u?"—u?+4...+2u—1)

(i) Arc colorings
1
ay

u -+ 1
a5: u2

ul +3ut +2u%+1
ae = u® + 4uS + 4u?

Uu —|—3u +2u?+1
a2 = —2ut 4 u?

(
o
o
e
("
("
("
-

wl® — 8utd — 24yt — 3449 — 2607 — 1445 — 443
wl® + 7uld + 160wt + 11w — 20" +u

wl® + 8uld + 244! + 340 + 2607 + 14u® + 4u>
wl” 4+ 9ut® + 31u!3 + 500t + 37w + 1207 + 4ud + u

ayp =

a7 =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u?® — 4u?* + 60u?® — 56u?? + 384u?* — 3320 + 1364u'® —
1084u'® + 2936u'” — 2136u!6 4+ 3956u!° — 2664u'* + 3412u!'® — 2236u!? 4+ 2008ul! —
1396110 + 896u° — 656u® 4+ 304u” — 204ub + 124u® — 64u* + 60u® — 20u? + 12u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq R e |
€2 w?T = Tu 4 8u—1
C3,Cy4,C8 u27_’_u26+_._+2u+1
cy
¢ w? +u? 4+ 8ut4
c7,C10 W —2ut1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 -9y =2y 1
Co y27_y26+_34y_1
C3,Cy4,C8 y27+31y26_~_..__2y_1
Cg
¢ y?" —5y*° + .- 4+ 56y — 16
C7,C10 y27+19y26+--~—2y—1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + v/=1C)

Cusp shape

u=0.509948 4 0.6719591

1.37783 + 8.199981

—2.79147 — 8.550541

= 0.509948 — 0.6719591

1.37783 — 8.199981

—2.79147 + 8.550541

u= 0.113525 4 0.7976221

—0.95481 — 2.343521

—6.62935 + 2.393891

u= 0.113525 — 0.7976221

—0.95481 + 2.343521

—6.62935 — 2.393891

u = —0.501343 + 0.6301901

2.26803 — 2.578351

—0.81917 + 3.650381

u = —0.501343 — 0.6301901

2.26803 + 2.578351

—0.81917 — 3.650381

u= 0.376782+ 0.7073141

—3.62827 4 2.819121

—9.45302 — 5.563991

u= 0.376782 —0.7073141

—3.62827 — 2.819121

—9.45302 + 5.563991

u= 0.576068 + 0.2278131

2.67334 — 4.477881

0.69991 + 3.023251

u= 0.576068 — 0.2278131

2.67334 +4.477881

0.69991 — 3.023251

u = —0.548106 + 0.2844261

3.27525 — 1.045881

2.08117 + 3.013331

u = —0.548106 — 0.2844261

3.27525 + 1.045881

2.08117 — 3.013331

u = —0.312350 + 0.5097121

—0.041447 — 1.1702601

—0.65568 + 5.801541

u = —0.312350 — 0.5097121

—0.041447 4+ 1.1702601

—0.65568 — 5.801541

—0.02510 + 1.429211

—1.89158 — 2.851281

—2.36117 + 2.964281

—0.02510 — 1.429211

—1.89158 4 2.851281

—2.36117 — 2.964281

0.459274

—1.66811

—4.57270

—0.07989 + 1.567311

—7.20164 — 2.515331

—4.12254 + 2.696021

—0.07989 — 1.567311

—7.20164 + 2.515331

—4.12254 — 2.696021

—0.14253 4 1.580201

—5.18836 — 4.927101

—3.80267 + 2.176681

= —0.14253 — 1.580201

—5.18836 + 4.927101

—3.80267 — 2.176681

0.14900 + 1.594401

—6.28352 + 10.639801

—5.63394 — 6.901001

= 0.14900 — 1.594401

—6.28352 — 10.639801

—5.63394 + 6.901001

= 0.04709 + 1.604121

—9.06338 — 1.667771

—8.35861 + 2.791231

= 0.04709 — 1.604121

—9.06338 + 1.667771

—8.35861 — 2.791231

0.10726 + 1.60486.1

—11.51840 4 4.624241

—10.86711 — 3.605231
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0.10726 — 1.604861

—11.51840 — 4.624241

—10.86711 + 3.605231




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce W w1
€2 w? — Tu 4 8u—1
C3,C4,C8 u27_|_u26_~_”.+2u_|_1
Co
¢ T w4+ Bu+4
c7,C10 W+ 9u 2041




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cg YT -9y 2y 1
Co y277y26+734y71
€3,C4,C8 v 431y =2y —1
€9
€ y?" —5y*0 + ... 4+ 56y — 16
7,10 YT+ 19y*0 . —2y — 1




